M:thin English Brain Teasers level 4 #2
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puzzle3 puzzle 4
What is the missing number in Which number should replace
the following brain teaser ? the question mark ?
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M:thin English Brain Teasers level 4 #2

Answer to brain teasers

puzzlel: C
Each shaded part and symbol moves 1 step in the next square.

The numbers go up by +2.

puzzle2: 7
The difference between the horizontal and vertical number

in each cross is 300.

puzzle 3 : 4
Multiply the 1st and 2nd digit in each column to get the 3rd and 4th.

puzzle4: 13
Starting at the 1, 1 and 3 make 3, 2 and 3 make 5, and so on

(Fibonacci).
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